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No. FEAHR ik EEME T PRAEA: B TRIAH Hi A FEFI 4
4 KOTM) K (i) K/ H) KOTH)
1 N — AN TN 5 1 1 FZ fL HRCHEB 37 187.2600 99.66 35,700  3,877.7851%
2 NIRRT G 2 1 (e & 1) FZ & BEHED 9 134.3800 71.32 25,600  2,775.0700%
3 RLT VARG 32K RU # HATH 7 38.7522 91.35 21,529  1,186.2009%
4 BLT VARG AR RU # HATH 5 38.7522 81.92 21,529  1,064.4000%
5 BL7 ARG 1 RU # HATH 7 36.1746 91.35 20,097  1,186.2009%
6 L7 L ARG RU # HATH 7 36.1746 91.35 29,700  1,186.2009%
7 m—LVa—hF O ek k& Tk EC t KB 2 72.45 15,150 *
8 ¥yy AN a—pER UK SVl E g 20 89.77 13,800
9 o—La—NEARVY T VA1 H] EC t KBF 50 84.20 13,690 *
10 B—Lva—NRARVY TV R g2 1 EC t KEF 20 82.92 13,490 *
11 N7—=Aa—pEEf b SZ th i 52 113.24 155,684
12 o=V va— R RVY T VA2l 2k EC  tk KBiF 7 82.92 13,490 *
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